MATH 155B, Quiz 5
October 18, 2012

Name: K E \/ |

You have 10 minutes to complete this quiz. The use of calculators is not permitted.
Show all work if you want full credit for your solutions. Zero credit will
be given for answers with zero work shown, even if the answer is correct.

Good luck!

3?1.+2
converges or diverges. If it

(1) Determine whether the sequence a, =

converges, find the limit.

X
B z,fu _c /_z)ﬂ i; 1 ,
qn e E2 ] 5 ) +he Sep e oy To O

\S

d Inz
(2) Find the solution of the differential equation dﬁ — 22 that satisfies the

initial condition y(1) = 2.
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I have neither given nor received aid on this
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